Unit 15 – Straight line graphs – Vertical & horizontal follow me cards

	I am the origin

You are the vertical and horizontal lines that intersect at 
(-1,-2)


	I am

x=-1 and y=-2

You are the point where x=2 and y=-3 intersect

	I am (2,-3)

You are the vertical and horizontal lines that intersect at 

(3,4)

	I am 
x=3 and y=4

You are the point where x=-2 and y=2 intersect

 
	I am (-2,2)

You are the vertical and horizontal lines that intersect at

(1,1)
	I am 

x=1 and y=1

You are the point where x=-3 and y=4 intersect

	I am (-3,4)

You are the vertical and horizontal lines that intersect at

(1,-4)

	I am 

x=1 and y=-4

You are the point where x=2 and y=2 intersect
	I am (2,2)

You are the vertical and horizontal lines that intersect at 

(3,0)

	I am 

x=3 and y=0

You are  the point where x=-2 and y=1 intersect


	I am (-2,1)

You are the vertical and horizontal lines that intersect at

(3,-4)
	I am 

x=3 and y=-4

You are the point where x=0 and y=2 intersect


	I am (0,2)

You are the vertical and horizontal lines that intersect at

(-1,3)


	I am

 x=-1 and y=3

You are the point where x=-3 and y=2 intersect
	I am (-3,2)

You are the vertical and horizontal lines that intersect at 

(2,4)

	I am

 x=2 and y=4

You are the point where x=1 and y=-2 intersect

	I am (1,-2)

You are the vertical and horizontal lines that intersect at

(0,-3)
	I am

x=0 and y=-3

You are the point where x=-2 and y=4 intersect

	I am (-2,4)

You are the vertical and horizontal lines that intersect at 

(-1,2)


	I am 

x=-1 and y=2

You are the point where x=3 and y=2 intersect
	I am (3,2)

You are the vertical and horizontal lines that intersect at 

(-3,-1)

	I am 

x=-3 and y=-1

You are the point where x=-2 and y=0 intersect


	I am (-2,0)

You are the vertical and horizontal lines that intersect at 

(-1,-1)
	I am 

x=-1 and y=-1

You are the point where x=3 and y=-1 intersect


	I am (3,-1)

You are the vertical and horizontal lines that intersect at 

(2,-1)


	I am 

x=2 and y=-1

You are the point where x=0 and y=-1 intersect
	I am (0,-1)

You are the vertical and horizontal lines that intersect at 

(-2,-4)

	I am 

x=-2 and y=-4

You are the point where x=-3 and y=1 intersect

	I am (-3,1)

You are the vertical and horizontal lines that intersect at 

(1,3)
	I an 

x=1 and y=3

You are the point where x=0 and y=0 intersect


